
Sentence Jumbles Questions Overview
Sentence Jumbles Questions have a good weightage in the Banking Exam and the type of question asked in Banking

exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried

to elaborate the concept used in Sentence Jumbles Questions.

Question
A sentence divided into 4 different segments is given below. These segments may or may not be in the correct sequence.

Rearrange these parts of the sentence so as to make it contextually and grammatically correct and mark the correct

option. In case of no arrangement, mark the option "No rearrangement required". could use the next six months to provide

the leadership to boost Europe’s global impact. (A)/ with Trump’s US missing in action from the global stage,

(B)/ Germany, which has just taken over the bloc’s rotating presidency, (C)/ the European Union should be stepping into

the vacuum. (D) 

Difficulty : Moderate Average Time : 55 Seconds

Options :
1. BDCA

2. DBCA

3. DCBA

4. BDAC

5. No rearrangement required

Solution
The correct answer is option 1 i.e. BDCA

Concept/Grammar rules Applications

Page No: 1

https://www.gargi.ai/question-answer/a-sentence-divided-into-4-different-sentence-jumbles-questions-for-banking-46633
https://www.gargi.ai/


The given question suggests finding the correct arrangement of

parts forming a coherent sentence.

The theme of this sentence is the strategy of the

European Union to boost its power.

The first part will be 'B' because it tells the reason

why the topic of the EU arises.

The second part is 'D' because it mentions the other

part of the sentence.

The third part is 'C' that tells about how one particular

country can step forward.

The fourth part is 'B' as it mentions the way that

Germany could use.

Hence, the correct order is BDCA.
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